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o 2 = 0 0 0|8l &X& A HI 12,509 25,200 212,691
2 EN a 11,855 11,200 655 | & A& AFE HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 0 0 0
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oH
K

Ok

al

H &

ol

<+

@

0l0

KJ
Ao

<r

-,

n0

KIo

655

655

655

655

11,200
11,200

11,200
11,200

ol

<+

11,855
11,855

11,855
11,855

or
700

&l

o
K1
H

ulo
il
Ki
H

W

521

655

|

=

]

=

11,200,000

(=}

23 11,855,000
X

148,578 655

149,233




OINE-P(E- oo Ee)
EX .22 .Y .G N2AY - BES NEY [ NEH| HDEY
SAHHF Y 149,233 148,578 655
2oz 136,724 123,378 13,346
Ness(2AAF D) 136,724 123,378 13,346
PHNE(AZTEID) 136,724 123,378 13,346
2K E 136,724 123,378 13,346
602 0fl x| 2 136,724 123,378 13,346
01 oIxI2 13,346 136,724 123,378 13,346
O 20154 O X2
AH 136,724,0002 - J| X 123,378,0008 = 13,346
Al Z 0| OFOLF 12,509 25,200 A 12,691
AMEOHM 22| 12,509 25,200 A 12,691
AZXE(AENEINZ) 12,509 25,200 A12,691
AHIX ABZAIS 243 12,509 25,200 A 12,691
201 L2 1,309 14,000 A12,691
01 AtR2all A 12,691 1,309 14,000 A 12,691
O IHAZHUITAIALY SX X
2H 187,0008 * 7HA = 1,309
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X = g A 149,233 148,578 655




= 2 ZEiAE
el ae)
X o4 o

=== H@ Moz =2 o= ifff; OIXt29l | JIEt2 2l
2009E M X| 403,322 55,900 0 35,360 312,062
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201049 = 20,180 20,180 0 0 0 0 0 41,813
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